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He WMean vale of & @rfam Chaacknstic betvoeen them @
[T differena, betwan thd pnb and @7 is now w also Censider Z-miled
Studs wh lik sperts ~ X'= < heiyht of Stud Sample fe st

n=50__ 68.2 S =2.5
Steds who il bosks ~ Y= hegt of Std m=soj 675 5:;=.z.8

Hi M= ply ok agunst Ho i S =y e fyops o
As usuel, fiat ve nomaelize :
Z, = Ci'?)'ECR-y) (x-¥Y) ~0 (5(“7)*0 > (©8,2-67.5)-°
\ Var(X-7). \F.;T_‘ 0.53 0.53

Can ve reject H, dw‘.«, Sl X ? Lets compan diffeent O vales as ucll
as iau 2‘hul fests (book cinsidsa dnld Iil, sme M,>u, 3 ”) Also compu® p-\ale,

4oi E !
: : ‘ Z } ! X !
. {
’ ¢ ‘ ( !
: i i

l;}. \}' 2458

<X

= ,132

uz ana bab I ;
3?” i ‘
.64
A(»0.05 W {-'--o 05 =0.45 | ——> {_o.qsoo] Mli'-k'-* .64 1.6Y > 132 seo am'j

".La [3-0035 ou.'ﬁso].-—-»[owso] ~——>2.96  cand wject £

Table

£ Ld.-:id-»[-‘j-o.oos =o,tns] ~—> [o 4950] .58 cand wuf

4%\
P"Va'& a{ea’
o= 0.,093Y i il |
o & p-Value 3 o +«——[o. qoeele—w z, =132
o = 0.1868 “"" > % =06,0434

2-Vale
e Coclel M(fl.aé H, ;;‘na:m{f prob sf False rejec! 0.1868 o h;,/‘, => appns 197

.WMM WW%WW!’)# bcdkﬁlgrﬂ_ﬂ’

Set
ﬁ,m zZ, = (X-Y) = ~E(X-7) (Y"Y)"O > .64 Here w’d=o.05
(V"(R—V) S)'tf'g
T o bit fake _“"‘ {o Y
because 1+ 3 X = 68.2 ""’"’"5.,
_For_all V‘“'Ss‘;a"% Ana likewise J—@7 ; = 35 ev N>78
He V) S5, 5y _-_s,,»{;,*>3775 h > 77
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